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Part |
Part Il : Scholastic Aptitude Test

: General Mental Ability Test

Part | : Time 1'/2 hours Max Marks :90

(For Physically Challenged group 2 hours)

Part Il : Time 1'/2 hours Max Marks :90

(For Physically Challenged group 2 hours)

Instructions To Candidates

Read the following instructions carefully before you

answer the questions. Answers should be given on
a SEPARATE ANSWER SHEET:

1. Please write your Centre Code No. and Roll No.
very clearly (only one digit in one block) as given
in your Admit Card. No block is left unfilled and
Zeros appearing in the Centre Code No. and Roll
No. are correctly transferred to the appropriate

the booklet and on the Answer Sheet.

blocks or
-or example,

with Roll No.
Cum Merit

Centre Code No. 0042 will

student 7 appearing for

The

National Means Scholarship Exam

from Lucknow first

make entries as below:

State Code Year Centre Code Roll No. in Figures
i
3|1 23| |[o]o| 4|2 0| 0| 7

Your Centre Code No. and Roll No. shall remain the

same as given on your Admit Card.
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2. IE 9T ¥ 2 $ET F & IS HET A 90
TR Bl

3. T U UH-Ush 3F & ¢

4. | W A9 §, 39 uY & gHg F add
|

S. WUH WA ¥ IRFH N 3R s F 91¢ @y 9,
ed do g A |

6. I 3T R 997 & 39X o 377ar &), aF 3§
R HAT o€ d FY AR 39T0T 999 F¢ | I
THI ST &, dl 39 WRaAT 1, S 379 gga
IR BIS &A1 T, g ¥ &g &

2. The test Booklet is devided into two parts. Each

part has 90 questions.

. All Questions carry one mark each.

. All questions are compulsory, do not waste your

time.

. Begin with the first question and keep on trying

one question after another till you finish it.

. If you do not know the answer to any question,

do not spend much time on it and pass on to
the next one. If time permits, you can come
back to the guestions which you have left in the

first instance and try them again.

7. 9399 B i & faw RAm o wET SR /. Since the time allotted for the question paper is
§r| 9. FHYF! 3TFT m T EIT%UI very limited, you should make the best use of it.

8. WIET IS & Ied & A Gl IF FH &

. = at the end of test booklets.
o :Iﬂ—mﬁ s W . NS 9. Remember, you have to mark answer c;n_ThE.:
. , 3d¥
3G-99% 9T &I ¢oll &

10.397-93& ch' UUH @Us qT GMAT JUT gF{ TUus
9 SAT fo@r 8| gaRaa & o & GMAT @us
(A7 9. 1 9 90) 9 SAT @Us || (7 €. 91 &
180) 9X 3T T &l

11. 9% 9% &7 39X 39 929 & a1 6 a1
f[Ascdr A ¥ Fer ey 7 §&ar 39393 A
U HEAT & TTHA HiSed H TT% 79 J fo@
X ool &l

12.1'/; gu¢ (ARRE FT F TAldl J¥d FIGT &
foT 2 90¢) & QXA ¢ 319 9T SHIT HTaT
(ATe&Tr AT W& UF FX G| 37 #HET &
99T FT 39X hY Gar FT & I§ 9¥T IEae
% @us || W 3ifed &

13.3§ TS Ueedl WITAIT R 92T FT 307 Al
JRFH HISU|

8. Blank pages have been provided for rough work

separate Answer Sheet.

10.The Answer Sheet has two specific parts. Be
sure that on the (Part-l) GMAT (Serial No. 1 to

90) is to be answered. On the other (Part-ll)
SAT (Serial No. 91 to 180) is to be answered.

11.Answer to each question is to be indicated by

writing the number of the correct alternative in

the answer sheet in the box provided against

each question.

12.Immediately after 1'/2 hours(For Physically

Challenged group 2 hours) you start doing
Part-li(Scholastic Aptitude Test). How you have

to answer the question on that part is stated on

e ¥ - e -

the latter part of the question booklet Part-Il.

13.Now turn over Page and start answering the

question.

IdT- 389 92 IiEdea] 7 HIs &1 AGhArs dd1 6 F & Fakad w7 o oo off 7 ™R
N.B.: Do not write anything except the Centre Code No., Roll No. and rough work, anywhere in the booklet.

|
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GMAT - 2023

(Part - 1)

General Mental Ability Test

Direction: In Question 01 to 12 each question has
four terms. Three terms are alike in some way. One
term is different from others. Write the number of
the term different from others on your answer sheet

against the proper question -

Q1) Q1)
1) 11 2) 13 1B Vg I 2) 13
315 4) 17 3) 15 4) 17
Q2) Q2)
1) AIq 2) Uia 1) Red 2) Yellow
3) Aia 4) 831 3) Blue 4) Green
Q3) Q3)
1) POCG 2) KLIZ 1) POCG 2) KLIZ
3) BUDX 4) FQMV 3) BUDX 4) FQMV
Q4) Q4)
1) FG 2) VT 1) FG 2) VT
3) MQ 4) PR 3) MQ 4) PR
Q5) | Q5)
1) HGF 2) XWV 1) HGF 2) XWV
3) NML 4) OPQ 3) NML 4) OPQ
Q6) | Q6)
1) ACE 2) PRT 1) ACE 2) PRT
3) UWY 4) MNO 3) UWY 4) MNO
Q7) | Q7)
1) RTW 2) QOM 1) VA 2) QOM
3) LNP 4) |[KM 3) 4) [KM
Q3) Q8)
1) TR 2) ﬂ:*“*- 1) 2) Argentina
3) x?riHE:ﬂl?TH! 4) CTDICH] 3) Australia 4) Antarctica
Q9) . Q9)
1) GI0 2) 3] 1) Mercury 2) Acetone
3) ﬁfrﬁ 4) YlHcic 3) Petrol 4) Kerosene
Q10) I'f-"ﬂD)
1) TFo! 2) B 1) Wood 2) Cork
3) UX 4) DI 3) Stone 4) Paper
Q11) Q11)
1) cH 2) U= 1) Tonne 2) Pint
A RING] 4) Tic3 3) Gallon 4) Litre
Q12) Q12)
1) Sl 2) GG 1) Curd 2) Butter
3) 5 4) T3 3) Ol 4) Cheese
NMMS 2023 Contd.
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M-Iy 13T 4 ATAS HIR TS € | Tbd = & ol
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Q13) HIUB - T - H1dd - ?

1) HidT
3) Xl

Q14) JLNP: OMKI :: SUWY : ?

1) FGHI
3) PLHD

Q15) 16:56;:;32:7

1) 96
3) 118

Q16e) .16:.0016x 1.0227

1) .0702
3) 1.020

QA 725629 (
1) 63
3) 90

Q18) 3HRIDPIY AXT]

1) YHb1A ; HTHH
3) 3gelt - 9

- ™

Q19) TSl : ¥dl

Q23) T : URd : T : 7
1) !
3) Uifp T+

Q24) fHART: FdY:de 7

1) €@1¢
3) 'Y

R

NMMS 2022

2) ghg
4) TR

2) MLK]J
4) XVIR

2) 112
4) 128

2): 182
4) 10.20

2) 81
4) 99

2) @Y : U1
4) UgTs : PE&i P&l

2) S [ dN
4) ¥TTA : D D

2) Y ;: AAIA
4) TYTIIC : T

2) fafe

4

Direction:

_—
In question 13 to 24 there are foyr terme

in each question. The terms left to symbol » haye
same relationship as the terms of the right to sympy|
.Out of the four one term is missing which is one of
the four alternatives given below. Find out the
correct alternative and write its number against the

corresponding questions on your answer sheet,

Q13) Ruby : Red :: Sapphire :?

1) Biue 2) White

3) Green 4) Silver
Q14) JLNP: OMKI :: SUWY : ?

1) FGHI 2) MLK)J

3) PLHD 4) XVTR
Q15) 16:56::: 32: 7

1) 96 2) 112

3) 118 4) 128
Q16) .16:.0016 :: 1.02:?

1) .0102 2) .102

3) 1.020 4) 10.20
Q17) 1: 5639 :2

1) 63 2) 81

3) 90 4) 99

Q18) Darkness : Lamp

2) Thirst : Water

1) Fatigue : Exercise
4) Study : Class room

3) Medicine : Doctor

Q19) Fish : Shoal

2) Shark : School

1) Audience : Theatre
4) Study : Classroom

3) Elephant : Flock

Q20) Sonnet : Poem

2) Chapter : study

1) Lie : falsehood
4) Ballad : Prose

3) Murder: Crime
Clock : Time = Thermometer : ?

Q21)
2) Radiation
s 4) Temperature
3) tnergy

e = Sikhs : ?

2) Medina
4) Gurudwara

Q22) Muslims : Mosqu

1) Golden Temple
3) Fire Temple
e - India: Yen:?

23) Rupe
= Turkey 2) Bangladesh
e 4) Japan
3) Pakistan ) Jap
Q24) Bank Rjver  Coast: ?
2) Waves
. E'ﬂﬂd 4) Beach
3) Sea
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Q25) 5+3x8-12+-4=3

1) + 3R - 2) - 3R =+

3) + 3R x 4) + 3R -
Q26) 5+6=3-12x2=17

1) = 3R x ) oy

3) + 3N = 4) + AR -
Q27) 2x3+6-12+4=17

1)}(\3?'?4- 2].5-\?:.#{-

3) + 3R = 4) - IR =
Q28) 16-8:4+5x2=8

1) = 3R x 2) - IR -

3)+3'-|>N-:- 4) - 3T x
Q29) 9+5+4x3-6=12

1) + 3R x 2) = AR x

3) = 3R - 4) + 3R -
Q30) 12+2-6x3+8=16

1) = 3R + 2) - 3R +

3) x 3R + 4) + 3R x

Q31) afe = BT 3 x, x BT 34 + + @7 37
£ a1 163+ 5:2+4 BT 019 F1d PIfeT.

1) ¢S 2) 10
3) 19 4) 16
Q32) TS + BT 3 + | = BT 3 -, - BT 32 x 3R x BT 374 +
© dl 12+6+3-2x8 T HH J1d DT |
1) -2
3) 4

~~3';IT?—$T\3‘['ZE+

2) 8
4) 2

Q33) TG + BT Y -, - BT 3(U x, = BT 37U + X + BT Y =
B dl 15-3+10x5=5 & HH J1d DI19T |

Direction: In questions 25 to 30 there are equations
that have become wrong due to wrong order of
signs. Choose the correct order of signs from the
four alternatives given below so that equations
become right. Write its alternative number on your

answer sheet against the corresponding question
number -

Q25) 5+3x8-12+4=3

1) +and - 2) - and =

3) + and x 4) + and =
Q26) 5+6+3-12x2=17

1) + andx 2) + and x

3) +and = 4) + and -
Q27) 2x3+6-12+4=17

1) xand + 2) + and -

3) +and = 4) - and =
Q28) 16-8+4+5x2=8

1) =+ and x 2) - and =

3) + and + 4) - and x
Q29)9+5+4x3-6=12

1) + and x 2) + and x

3) = and - 4) + and -
Q30) 12+2-6x3+8=16

1) +and + 2) - and +

3) xand + 4) - and x

Q31) If =+ means x, x means +, + means - and - means =
find the value of 16x3+5-2=4.

1) 9 2) 10
3) 19 4) 16
Q32) If + means =, = means -, - means x and X means +
find the value of 12+6+3-2x8.
1) -2 2) 8
3) 4 4) 2

Q33) If + means -, - means x, + means + and + means =
find the value of 15-3+10x5=5

1)5 2) 22 1) 5 2) 22
3) 48 4) 52 3) 48 4) 52
Q34) e x BT 3 = - BT 3 %« BT Y + IR + BT 3 - §[Q34) If x means =, - means x, + means + and + means -
dl (3-15+19)x8+6 &I HF J1d DT | find the value of (3-15=19)x8+6
1) -1 2) 2 1)8 =1 2) 2
3)4 4) 8 3) 4 4) 8
NMMS 2023 5 ~ Contd.
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Q35) T x BT 31+, + b1 afef = - @7 ofef x 3IR = Ppraf - |Q35) If x means +, + means +, - means x and + means -
%?‘ﬁ 8x7-8+40+2 = ? then
8x7-8+40+2 = 7
1)1 2) 5 2 1) 1 2
= 5
3) g 3 4) 44 3) g3 4) 44
5

5

Q36) aﬁ'xﬁéﬂf-, +Eﬂ\?r[‘i!f+,-ﬁéﬁfx\3?ﬁ+ﬁﬁf?f+
® dl 15-2-900+90x100 = ? BT T JId BITOT|

1) 190 2) 180
3) -90 4) -60
Q37) gfc A=26, SUN =27 dd CAT = ?
1) 24 2) 27
3) 57 4) 58

Q38) TfE Uw fAf¥d W9 & CARROM &1 BZQQNL & FU H
Pls foar SITdT @ df fbd Yec &I HOUSE & &0 H

Hited fear S |
1) IPVTF 2) GNTRD
3) INVRF 4) GPTID

Q39) TS PAINT BT 74128 & &U H 3R EXCEL BT 93596 P
&0 H Bifsd f6dl oidl & dl 19 ACCEPT &I &d

STPHIS D |

1) 455975 2) 547978

3) 554978 4) 735961
Q40) TfE E=5, PEN=35 I PAGE =?

1) 27 2) 28

3) 29 4) 36

Q41) TP (AT BIS & RAIN BT 85%6 3R MORE B 7#8@
foraT ST 8 | 31 $IS H REMAIN BT ¥ [Tl STl © |

1) #@75%6 2) #@&S$%6
3) 7@#5%6 4) 8@75%6

Q42) Tfe us s Hie § LUTE &I MUTE forar SiidT 8 3R

- = -

EATE @1 GATE foraT 9iTaT1 & a1 39 @IS § BLUE &1 &Y

forar S
1) CLUE 2) GLUE
3) FLUE 4) SLUE

Q43) TH [Hi%d DTS H ROAD Tk BT WTFI & =0 H HifSa
a1 SITaT € | SITST & §HH 99 &7 UreH &3 §u
GJFY BIS & U Yec T BT 8T |

Q36) If x means -, + means =, - means X and = means =
then find the value of 15-2+900+90x100 = ?

1) 190 2) 180
3) -90 4) -60
Q37) If A=26, SUN=27 then CAT =?
1) 24 2) 27
3) 57 4) 58

Q38) If in a certain language CARROM is coded as
BZQQNL which word will be coded as HOUSE

1) IPVTF 2) GNTRD
3) INVRF 4) GPTID
Q39) If PAINT is coded 74128 and EXCEL is coded as
93596 then how would you encode ACCEPT?
1) 455978 2) 547978
3) 554978 4) 735961
Q40) If E=5, PEN=35 then PAGE =7
1) 2 2) 28
3) 29 4) 36

Q41) In a certain code RAIN is written as 8$%6 and MORE

Is written as 7#8@. How is REMAIN written in that
code?

1) #@75%6 2) #@&S5%6
3) 7@#5%6 4) 8@7%%6

Q42) If in a certain code LUTE is written as MUTE and FATE
Is written as GATE then How will BLUE be written in

that code?
1) CLUE 2) GLUE
3) FLUE 4) SLUE

Q43) In a certain code the word ROAD is coded as WTFI.
Following the same rule of coding what should be

the word for the code GJFY.

1) REAP 2) TAKE 1) REAP 2) TAKE
3) BEAT 4) LATE 3) BEAT 4) LATE
- B L ——
NMMS 2023 6 Contd.
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0 FHEIT HTHI(Question)
A "/\ ok

Qs1) FHEAT 3Tehid(Question)

i vl bl el

Q52) H:

&1 3T (Question)
% 1
el 7|

Qs3) FHELT 3ThTd(Question)
If p j/g]\ 2 »
AN / | Vi 'F:D

Aoy gy ST 54 § 61 3§ ToI U oIy | Tl |
ﬁﬂtﬁ%\@é@fﬁ@mﬁaﬁ%ﬁﬁwﬁ%mﬁm
W%iﬁaﬁwﬁﬁﬁﬁﬁﬂﬁmiﬁmwﬁiﬁﬁﬂﬁﬁw
Wmde}ldﬁ{uﬂdOWGﬁﬁﬂ%{H@ﬂ
g faiRked-

Qs4) CK 16 9 JR

0S 24 19 TX
KM 2ars 2 P,

2) 21, 14
4) 84, 56

1) 14, 21
3) 56, 84

qQs5) 12 18 30 16 32 40 36 18 27

e N

Q50)

Q51)

Q52)

A @ 6 @

. Direction: Question no-54 to 61 number are placed

in figure on the basis of some rules. One place 1S
vacant which is indicated as(?). Find out the correct
alternative for the vacant piace and write its number
against the proper question number on your answef
sheet-

Q54) CK 16 9 JR
OS 24 19 TX
KM P PV

E) a4 2) 21, 14
3) 56, 84 4) 84, 56
Q55) 12 18 30 16 .32 40 361882

NN/

6 38 ? 6 8 2
1) 6 2)9
3) 12 4) 18
A‘IG‘\ 49 \ e 20N
/ 3 _4\\'1 2 . 3 1 S ‘x‘
A ] w i \
1) 125 2) 215
3) 251 4) 512
g
NMMS 2023 Contd
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1) 13 2) 15
3)17 4) 19
Q58)

Q60) | 5 7l 18
1619315/ [9[?| 5] |4 50] 1
3 6 8
1)5 2) 19
3) 27 4) 8¢
Q61)| 5]4 109
BulE3 R 2]
R 28 154
65| 20| 45
1) 4 2) 3
3) 2 4) 1

eR-U% 62 T 64 T0) T UY &1 8 $94 & o0
FafcRad 3@ &1 3w o1 |

1) 13 2) 15
)l 4) 19
Q58) Z 2 2

2l 48 |3 4@6 3@4

= 8 2
1) 42
3) 46

2) 44
4) 48

Q60) | 5: 7 1_8i
1693|115/ 19]|?|5||41/50] 1]
sl 6 8
1) 5 2) 19
3) 27 4) 89
Q1) [5]/41]9
SRS g
7. [EoE Fail
| 65| 201 45
1) 4 2) 3
3) 2 4) 1

Direction-(Qno 62 to 64) Study the following
diagram to answer these questions.

Q62) Find out the number that lies inside all the figures:

1) 2 2) 5 1) 2 2) 5
3)9 4) 8 3) 9 4) 8
Q63) g 9B 1 & Sl fhgl al HHiddl & U HfREE - |Q63) Which are the numbers that lies inside any two
figures:
& f‘-f 3)59 4) 9,1 3) 59 4) 91
N L
V)4
D,
B
vt/
NMMS 2023 AP Contd.
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Q64) I HBAT 1 HF §d1sU ofl fo daa By & urd § [Rd| Q64) Find out the number that lies only inside the
B triangle:
1) 2 2) 1 )2 2) 1
3)5 4) O 3)°8 4) 9
fAre=T: Uy T 65 ¥ 77 G / &R & YUl pH WX Direction: In question 65 to 77 are based on number
3MTRd B | v Soft o AW e & Uy o (2) T i / letter series. In each series missing term is indicated
. N - tion mark (?). Find out the missing term o
e | - fou U =R el § § g ue &1 1d B 3R Oy question. Matl Rilcd g-rerm ok
. , i of the four alternatives given below and write its
3D =T BT el U AT S IH 30 IR T W alternative number against the correct question
ferfag | number on your answer sheet -
Q65) 4,23, 60, 121, ? Q65) 4, 23, 60, 121, ?
1) 212 2) 221 1) 242 2) 221
3) 241 4) 242 3) 241 4) 242
Q66) 3,12, 27, 48, 75, 108, ? Q66) 3, 12, 27,48, 75, 108, ?
1) 147 2) 162 134T 2) 162
3) 183 4) 192 3) 183 4) 192
Q67) 3F, 6G, 111, 18L, ? Q67) 3F, 6G, 111, 18L, ?
1) 210 2) 25N 1) 210 2) 25N
3)27P 4) 27Q 3) 2/B 4)27Q
Q68) R M, 2 FD,? Q68) R M, 2, F,D,?
iGERE 2)elH 1B 2) J,H
3) B, H 4) 1, C 3) B, H 4) |, C
Q69) _aaba_bba bba_abaa b Q69) _aaba_bba_bba_abaa b
1) aabab 2) ababa 1) aabab 2) ababa
3) baaba 4) bbaba 3) baaba 4) bbaba
Q70) ab bbc c ab_ab_b Q70) ab_bbc_c ab_ab_b
1) ccaac 2) cbabc 1) ccaac 2) cbabc
3) cacac 4) bccab 3) cacac 4) bccab
Q71) b_ac_cc_cb_ab_ac Q71) b_ac_cc_cb_ab_ac
1) cbaba 2) bbaac 1) cbhaba 2) bbaac
3) abbbc 4) aabba 3) abbbc 4) aabba
Q72) gfe_ig_eii_fei_gf i Q72) gfe_ig_eii_fei_gf_ii
1) eifgi 2) figie 1) eifai 2) figie
3) ifgie 4) ifige 3) ifgie 4) ifige
Q73) b b bb__bbb_bb_b Q73) b_b_bb__bbb_bb b
1) bbbbba 2) bbaaab 1) bbbbba 2) bbaaab
3) ababab 4) aabaab 3) ababab 4) aabaab
Q74) c bba cab_ac_ab_ac Q74) c_bba _cab_ac_ab_ac
1) abcbc 2) acbcb 1) abcbc 2) acbcb
3) babcc 4) bcacb 3) babcc 4) bcacb
Q75) a bbc aab_cca_bbcc Q75) a_bbc_aab_cca_bbcc
1) bacb 2) acba 1) bacb 2) acba
3) abba 4) caba 3) abba 4) caba
- 3 - e —
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Q76) aab_aa_bbb_aaa_bbba

1) abba 2) baab

3) aaab 4) abab
Q77) bc_b_c b_ccb

1) cbecb 2) bbcb

3) cbbc 4) bcbce

Rreer: 7% 78-85 & it g0 & IR I RT T 81 e e
% diRl 9 &1 M0 § Bis 7 s T ¢ 91 fed udi §
&iH-2 T e T & o oug @ ol T o8 9 B &9
S Tl B Sl G § 68 TR SR P 99 & [pdl U
¢ Y 0 @il 6| I A4 {8 74 IR fawedi ¥ § Bifed
3R 39 fapca T &1 IR U3 TR §91d U &1 & 9THA

it
CliEEl©

Q78) fgvul, W, ¥-1g 5

T

1) 3 2) 1

3) 4 4) 2
Q79) HHg, R&®, Tad

14} 22 2) 3

3)4 4) 1

Q80) &Y, dHs!, HEER]

1)2 2) 3
3)4 4) 1

Q81) Hd, HUS], Iba

Q76) aab_aa_bbb_aaa_bbba

1) abba 2) baab

3) aaab 4) abab
Q77) bc_b_c_b_ccb

1) cbcb 2) bbcb

3) cbbc 4) bcbc

Direction- For question 78 to 85 four sets of circles
has been given below. three circles of set have some
relation with each other. Questions given below have
three words each which are also related to each
other in some way. This relation between words is
similar to that in one of the sets of circles. Find it out
from the four options given below each question and
write its serial number against corresponding

guestion number on your answer sheet-
1 2 3 4

an|©

|

—

Q78) Deer, Rabbit, Mammal

| 1) 3 2) 1
3) 4 4) 2

Q79) Human beings, Teachers, Graduates

1) 2 2) 3
3) 4 4) 1

Q80) Tiger, Fox, Carnivorous

)2 2) 3
| 3) 4 4) 1

Q81) Flowers, Cloth, White

1) 4 2) 1 1) 4 2) 1
3)2 4) 3 3) =2 4) 3
Q82) IuIHIR, giacy, Al Q82) Engineer, Doctor, People
1) 3 2) 4 )53 2) 4
3)2 4) 1 3) 2 4) 1
Q83) IR, gHid, Il Q83) Thieves, Lawyers, Criminals
1) 3 2) 4 1) 3 2) 4
3) 1 4) 2 3)a 4) 2
Q84) JIR, glU, UgTIS Q84) Sea, Island, Mountain
12 2) 4 hye2 2) 4
3) 1 4) 3 ) s 4) 3
Q85) Hl, W4y, Ulaq Q85) Dog, Animal, Pet
1)3 2) 4 1) 3 2) 4
3)1 4) 2 3)ei 4)2
NMMS 2023 1
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=T @3 86 -90) FUfiRd THERI B 3T B3 3R
A fed T Uy FTIW

ABCDE F 3fR G o9 3eFT-2 ag H I 67 & | IS
areH |, 1l 3R 11| ¥ T Y S < I § SR Ud® are | &l
IeHT & AT 81 $7H G SR, &l STack 3R el e 81 C
U® Higdl SIac & 3R 98 S8 B wilel A 3R F & I1Y I&T
el Bl &1 B U ToN SolER a1g | H 0o e 6 &
1Y AT ST 8 | D TH Yo Siaes 5| U of UX I Jraila
&l ] U &1 aTe- H Ol 781 HRd 81 A TR el 3R
die || § g SRl g |

Q86) Y a1+ | C I Rl &7

1) | 2) ||

3) Il 4) 1137 11
Q87) 31 foa- afea 9 &2

1) 41 2) IR

3) 49 AT IR 4) 395 9 DS gl
Q88) F &1 HTTIT T &7

1) Siac3 2) SMHER

3) e 4) 398 I DS T8l
Q89) I P9 Tl el &2

1) A - Ofgar - Res 2) B - U3 - SGIITR

3) £ - U3N - Rigi® 4) F - Aigan - e
Q90) 398 ¥ ®F 41 Rie! &1 ufafAfia 33a 77

1) AEG 2) EFG
3) AEF 4) CDE

Direction- (Qno 86 to 90) Study the following
information and answer these guestion given below.

A, B, C, D, E Fand G are travelling in three different
vehicles. There are at least two passengers in each
vehicle |, Il and Il and each vehicles has passengers of
both the genders. There are two engineers, two
doctors and two teachers among them. C is a lady
doctor and she does not travel with the pair of sisters
A and F. B, a male engineer, travels with only G a
teacher in vehicle |. D Is a male doctor. Two persons
belonging to same profession do not travel in the
same vehicle. A Is not an engineer and travels In
vehicle II.

Q86) In which vehicle does C travel?

1)ies]
3) il

2) Il
4) Il or llI

Q87) How many lady members are there among them?

2) Four
4) None of these

1) Three
3) Three or Four

Q88) What is F's profession?

1) Doctor
3) Teacher

Q89) Which of the following is not correct?

2) Engineer
4) None of these

i) A - Female - Teacher
3) E - Male - Teacher

Q90) Which of the following represents the three teacher?

2) B - Male - Engineer
4) F - Female - Teacher

1) AEG
3) AEF

2) EFG
4) CDE

" REXUH DT MON >
}GﬂGPm"‘ CC Siier e N
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Ay 3R gdeyor

FAg: 1/, g0¢ qr:uﬁa:;gg
(rif® F7 § FAd! 779 IR g 2 o)

gt & QT &

1.3@?&&17 giedel H died 993 *“"Zf-h = U9

A
b

SH Wanix
CAEEIG 9.8. 91 & 125
(T)FATSS FeITS
(37) a1foTe T - B
2. T3 [asT & WA & 3ITY 2T
IS M & Al ev ¥ IR [Few & &
'{-@T m EET Heed| Il o stx-YHAen Y ‘ﬂ'ﬁ"‘

S —
R JFEOT = H&AE TolT@T

4. € FY JIRET FITa0

Time :

SCHOLASTIC APTITUDE TEST

1'/> hours Full Marks : 90

(For physically challanged group 2 hours)

—

O

INSTRUCTIONS FOR THE CANDIDATES

- T'his test booklet consists of three subject

aroups containing questions as following.

-

(a) Science Q.No. 91 to 125

(b) Social Studies Q.No. 126 to 160

(c) Mathematics Q.No. 161 to 180

Attempt all the question from every subject

. Find out the correct alternative from given

four alternatives for each question and write
Its number on your answer sheet against
proper guestion number.

. Please start your work.

-_—--____-_-_.-.____—__.—___-_——-—_—_
o - 57 wo7 qRRae & I® &8 & AaReFd ol & F5 F few

N.B. - Do not write anything in the booklet except rough work.
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CRUE Science
Q91) TH & TS HT AT TF - Q91) The chemical formula of Baking Soda is-
1) Na2COa 2) NaHCOa3 1) NazCOs 2) NaHCOx
3) NH4OH 4) NaOH 3) NHsOH 4) NaOH
Q92) meﬁm%- Q92) An example of a chemical change-
1) 319 &1 fggan Z)Eﬂ:ﬁﬁ[‘déﬁ 1) Melting of wax 2) Sugar syrup
3) dlg H ST a1 4) A& AR Ul PI Uld 3) Rusting of Iron 4) Solution of salt with
water
Q93) fHdl 9 & 99 UXHIT] HHID SR fafya OIH YR |1 Q93) The atoms of any element has the same atomic
a7l URATIS] &1 Hed 6- number but different mass number are called-
1) m 2) YIRS 1) Isotopes 2) Isobars
3) 3ATSHICH 4) =] 3) Isotones 4) |somers
Q94) ﬁﬂ'tﬂ'l?i GIIRH'T'E‘,’- Q94) Gypsum Is an ore of -
1) 31T (Fe) 2) Hiegad (Ca) 1) Iron (Fe) 2) Calcium (Ca)
3) BT (Cu) 4) f5% (zn) 3) Copper (Cu) 4) Zinc (Zn)
Q95) a H Hqdieq & Gareiamdl &- Q95) Valency of Oxygen in water is-
1)1 2) 3 hi W 2) 3
3) 2 4) 0 3) 2 4) 0

Q96) g H | UieH! 3R Soidel & IBHT &1 B 91 4¢ Q96) Which one of the following set of number of protons
d*:ﬂ{lsps Mg Cl) o gra] SArdl %‘ and electrons present in chloride ion-

1) 17 Uei9 3R 17 3daeid  2) 18 Ui+ 3R 17 S 1) 17 protonsand 17 2) 18 protons and 17
. electrons electroris
3) 18 Uield 3K 18 SAide/d  4) 17 Ui 3R 18 iaCiA 3) 18 protonsand 18  4) 17 protons and 18
electrons electrons
Q97) ﬁﬂf{ﬁ S =1 ljl&zl:‘d{ ?m%- Q97) Which one of the following Is producer gas-
1) CHs + CO + H2S 2) CO + H2 1) CHs + CO + H2S 2) CO + H»
3) CO + N2 4) CHa 3) CO + N2 4) CHa
Q98) ﬁgﬁﬁﬁﬁ:{ G{HQTH 5|$§|dﬂt§*‘[ %? Q98) Which of the following is an unsaturated
hydrocarbon?
1) 144 2) 'QF{? 1) Methane 2) Ethane
3) Ui 4) U194 3) Ethylene 4) Propane
Q99) #1975 4 & fowa! fy Uid (alloy) &7 Q99) Brass is an alloy of which of the following?
1) fe= qur drar 2) ﬁgﬁmﬁf{ 1) Tin and Copper 2) Lead and Tin
3) diar g1 foia 4) @181 9YT HITHgH 3) Copper and Zinc 4) Iron and Chromium
Q100) 4 B, 94l B, HH: UH g & [ qYT 3 (F%R) U? KQ100)If By and Bz represent the magnetism at middle and
Wﬁ[ yefefq &vd 8] d1- end of a magnet respectively then-
1) B1 > B2 2) B = B2 1) By > Bz 2) By = Bs
3) By < B2 4) mﬂﬁﬁ%"f 3) By < B 4) None of these

Q101) 3z 715 qu1 &9 | @af3 &1 37 HHL: x; YT %2 B, dl-  lQ101)If the velocity of sound in gas and liquid are
represented by xi and xz respectively, then-

1) %1 = X2 2) X1 > X2 1) Y15 X3 2) X1 > X2
3) x1 < X2 4) X1 2 X2 3) X1 <Xz 4) X1 2 X
NMMS 2023 4 ==
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':HTﬁ?R? ﬁa%ﬁa ﬁFIT 'E'- E‘lﬂZ)The nature of lens in human eve is following-

Q102) 73
2) JTFRT :
1) R _ 1) Convergent 2) Divergent
3) ST R YT 3T 4) 555 § 5 78 3) Half convergentand 4) None of these
HTER] half divergent
. - a
moa)ﬁaﬁﬁﬁﬁ SRRl ' -‘q_fﬂ ™ KQ103)Which of the following matchings is correct-
1)ﬂ€$ IS i e - 2) ?ﬂ?ﬁ $a Rurieg) 1) Motion of blades of a 2) Motion of Soldiers
q?ﬂ‘ﬁ T g - "Iﬂh e tan - Circular Motion doing marchpast -
Spin Motion
S]Qﬂaﬁﬁ“ﬁ a4 ‘liL S IRI SR ZHA 3) Motion of Childon  4) Earth revolving around
TG & T - e iy Swing - Rectilinear Sun - Oscillatory
Motion Motion
Q104) ST S5l BT AES ©- KQ104) Unit of Heat Energy is-
1)'{3’1131 2) 1$71 HiTY 1) Joule Metre 2) Degree Celsius
3) faa= 4) 3T 3) Kilogram 4) Joule
Q105) FEfaf@s & | 315 T 3=y 9 98 & KQ105) Which of the following is Non-Renewable Energy
Resource?
1}ﬂéﬁllmﬂﬁﬁ? 2) Hd9 S4i | 1) Petroleum Gas 2) Geothermal energy
3) §R &9 4) 4a= »vil | 3) Solar Energy 4) Wind Energy
Q106) Bafeies 2 € @5 &1 Tiaa- &1 3380 8 & Q106) Which of the following is not example of Sound
reflection?
NHeER 2) XU 1) Echo 2) Reverberation
3) a1 AT 1= 4) S4H H G 3) Toy Telephone 4) None of these
Qo HeRs o & B T3S A1 : Q107)Which of the following terms Is a browser?
1) U 2) S54RSS OF | 1) Netscape 2) World Wide Web
3) diEY 4) T-1 3) Launcher 4) e-mail
Q108) IfFaar Q108)Statements:
Aaﬂﬁ‘-‘ﬂﬁf&w; 5a UPINS b5 9 8d: odl 6 | - gh* Rays passing through optical centre go
399 fages 8 gIal undeviated
(B) WEEIUT““T TI:"‘“‘ b Haoloo= al cUufl H B) Convex mirrors are used in traffic view mirrors.
LGN | For above statements which of the following are
SR PYH BRI PS I T8 & true.
1) a5 A 2) 9 B 1) Only A 2) Only B
3)ATGR E'Fi‘ 4) A1 5”‘ A TTE B 3) BothAandB 4) Neither A nor B
Q109)I5q 7 T1e T g avfe & RO RIS b‘iog)Red colour of blood is due to which pigment:
1) s 2) FTE3-SBHTTES 1) Oxygen 2) Carbon Dioxide
3) mefﬁqa 4) BIHTANE 3) Platelets 4) Haemoglobin
Q110) T5fyar I ST Bl B KQ110)Malaria is caused by:
1 &nﬁmm 2) TRIHiRET g1 1) Amoeba 2) Paramecium
3) T 3HTa] SR 4) EISHITEaH g}l 3) Entamoeba 4) Plasmodium
Q.”‘)WI'HTWHT?%- kQ111)Universal donor blood group Is-
A 2) B 1) A 2) B
muﬁﬁ@ﬁmm?ﬂ%- kQ112) Excretory organ in Earthworm is-
QLSS = 1) Kidney 2) Nepridia
2 @ i
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Q113) YT0I=T B- FJHS}The Phonoreceptor Is-
1) SH 2) 3T 1) Ear 2) Eye
3) i 4) §TY 3) Nose 4) Tongue
Q114) f3ci&= D &1 FH T 81 5- KQ114) Deficiency of Vitamin D causes:
1) T 2) T4l 1) Anaemia 2) Night Blindness
3) Tl H g 4) J&1 I 3) Swelling in teeth 4) Rickets
Q115) §Hg IR o Ge9 s U IR & KQ115)The largest digestive gland in human body is:
1) I&d 2) AR T 1) Liver 2) Salivary gland |
3) U™ 4) o= 3) Pancreas 4) Gallbladder
Q116) 57 & € fo98 oo+ faftl gR1 U+ gial 2 kQ116)In which of the following animal reproduction occurs
by budding-
1) TIRSI 2) S{HIE 1) Hydra 2) Amoeba
3) Hicd 4) UITHITREH 3) Leech 4) Paramecium
Q117) 5 & T o5 ta a1 SIS &1 4T T8 87 Q117)Which of the following is not a part of Nerve cell?
1) T 2) 3 I 1) Axon 2) Spinal cord
3) SJMEC 4) D 3) Dendrite 4) Nucleus
Q118) FTH-1 BT UIHT &- Q118)Cactus plant is
1) 3RI8! 2) JUfRE! | 1) Climber 2) Epiphyte
3) 5o 4) TERAT | 3) Aquatic 4) Xerophytic
Q119) 35 & T &= I USTK H3 Il qIeT 87 IQ119)Which of the following is fibre yielding plant?
1) 5 2) 51H 1) Jute 2) Neem
3) [FaaET 4) IURIad I 3) Cinchona 4) All of the above
Q120) HITEHT & gnﬂ?iis & IQ120) Power house of cells-
1) Rfgge ARISEICIR] 1) Vacuole 2) Golgi body
3) YsaI9H 4) AIScIHiedl 3) Ribosome 4) Mitochondria
Q121)§ﬁqaﬁ{§lﬁ3ﬁmm & =NIE E"ﬁﬂ SedHIC IQ121)Bark of Quinine is used for treatment of;
forar ST ©-
1) Siaﬁﬂfm 2) ‘5"1%ﬂ-‘-i!r:i*‘—li 1) Diabetes 2) Insomnia
3) Haiidl 4) HIYRUI $[EiH 3) Malaria 4) Common cold
Q122) §ABISaH US4 [SOH gRI DIl % KQ122)Bryophyllum reproduces through-
1) T 2) &S :f: 1) By stem 2) By root
3)Uar 9 4) Ba ¥ 3) By leaf 4) By flower
Q123) 55 & 59 ae &1 UG 9§ Ia3@ @ =Y H eyl [Q123)Which of the following algae can be used as
STdT B- Giofertilizer-
1) gaas ARGIRIEEIED 1) Ulothrix 2) Polysiphonia
3) Taral 4) D 3) Azolla 4) Nostoc
Q124) 3] ufesar 51 gy 4 fyd it g&g Siciu I IR Gdl a1 [Q124) The process that kills or deactivates all
fepg & cdl €, Headl - microorganism in milk is called as:
1) Ao 2) URERIS o< 1) Sterilization 2) Pasteurization
3) YfHeEH 4) Tlaca¥ 3) Sanitation 4) Activation
Q125) &rgﬂffﬁﬁﬂ%’w kQ125) Non-flowering plant is-
1) 3R 2) SiiH 1) Mango 2) Jamun
3) B= 4) hdil 3) Fern 4) Banana
NMMS 2023 16 Contd.
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Q126)
I 2) Fruft
" 41?@7
3) @Y |
Q12 TS [RE FAfared 3 § fow 78 %
TR RA®?
p) fgoe W 2) &l
3) Faas Gl 4) Ry =1
0128) TEFIETE TR oo ¥ H Ry 7
1) TSRIH ARSI
3) FERTE 4) oI
Q129}ﬁ'~9ﬁ@3ﬁ@|‘ CISILIRERSIINE HETGUG] 3] ITE
3
1) TR 2) §5 IR
3) feamaar 4) IJ s
Q130) =T SeifaRad H foow Herwue 31 Iyt o
1) 3 2) ST
3) PRI 4) 3
Q131) 3EF &1 fOd S1F 4T
1) THES 2) TG T
3) TR fgaid 4) fsgaR
Q132) ¥ T SUSHT BT TS &1 ©
1) AU AGISIN
3) RS 4) HeaU
Q133) PR &R &1 RITTAT foem &7 o1
) ez drc 2) 3l |3
31%@ 4} DGy
QI34) Tt U1t 1 g G-
”de A & 819 2) TRIE T3 TG §Hiq\ﬁ?
T UG B &I 4) 3HeR U5 TERI0N UaTY
D 99

Q35) TRicTaTE & G oot voa =A% I
SIS &1 FaT8-

) RRIETe 2) AR T3
3) WR 1R 4) Fegera
R136) g siie srelifafRe frg @y IR 3T

Social Science

Q126) By which name was the Head of the Village known in
the Vedic period-

1) Vishpati
3) Kulap

2) Gramni
4) King

RQ127)On the banks of which one of the following rivers is
the site named, Alamgirpur situated?

1) Hindon river
3) Satuluj river

2) Ravi river
4) Sindhu river

Q128)In which state is Daimabad Archaeological site

located?
1) Rajasthan 2) Punjab
3) Maharashtra 4) Gujarat

Q129)In which of the following texts sixteen
Mahajanapadas are mentioned?

1) Anguttara Nikaya
3) Divyavadan

2) Buddhacharit
4) Suttan pittak

Q130) Champa’ was the capital at which of the following

Mahajanpadas?
| 1) Vatsa 2) Kashi
3) Koshala 4) Anga

KQ131)Who was father of Ashok?

1) Samudragupta

2) Chandragupta Maurya
3) Chandragupta

4) Bindusara
Q132)Who wrote the famous book ‘Indika’?

1) Chanakya
3) Megasthani

2) Patanjali
4) Kalhan

Q133)Who founded the city of Agra?

1) Sikandar Lodhi 2) Ali Khan
3) Bahlol Lodhi 4) Akbar

KQ134) The battle of Haldighati was fought between-

1) Chand Bibi and 2) Sher Shah Suri and

Mughals Humayun
3) Mughals and Afghans 4) Akbar and Maharana
Pratap

KQ135) The Nawab, who transferred his capital from
Murshidabad to Munger, was-

1) Siraj-ud-Daulah 2) Mir Jafar
3) Mir Qasim 4) Najm-ud-Daula

kQ136)In which of the following years did Non-cooperation
movement start?

1) 1920 3 2) 1922 E1 1) 1920 AD. 2) 1922 A.D.
3) 1821 m 4) 1923 ﬁ 3) 1921 A.D. 4) 1923 A.D.
NMMms 2023 17 Contd.
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Q137) Uy TiaHS GHa o8 g3l Ul

1) 1939 S, 2) 1930 5.

3) 1934 5. 4) 1932 §.
Q138) H15 37 & & ¥ 3& U1 9Id &-

1) gaxi 2) I

3)ES 4) 9i9qd

Q139) f g SR T &1 YRAIG 99 310 9 SIS TR

1)81.5°qd 2)81°4d
3) 82.50 Q4 4) 8350 g

Q140) 7TH S YRT BT 380 o-

1) FRITRA] 2) S i
3) U= 4) TETSR

KQ137)When was the First Round Table conference held?

1) 1939AD 2) 1930 AD
3) 1934 AD 4) 1932 AD
IQ138) Trees found in Mangrove forest are-
1) Sundari 2) Sandal
3) Rubber 4) Sisal
IQ139)Which Longitude is associated with Indian Standard
time?
1) 81.5° East 2) 819 East

3) 82.5° East 4) 83.5° East

IQ140) Example of warm current Is-

2) OIYASHIO
4) LABRADOR

1) KUROSHIO
3) PERU

Q141) IS IU HicaRT Iohald (45 HE & 19 39 &- Q141)Maximum Tropical cyclones are witnessed between

2) 20° 3 30° &
4) 30° F 60° M

1) 59 F 200 &g
3) 10° F 350 &7

Q142) HTE RITHId P Fa+ -

following Latituaes-

2) 20° to 30° Latitudes
4) 30° to 60° Latitudes

1) 59to 20° Latitudes
3) 10° to 359 Latitudes

IQ142)Karst topography is associate with-

1) ET 98 9 6 )T P ASH T & 1) Igneous rocks 2) Lime Stones
3) EQG{TWH% 4) o1ag 3) Sand Stones 4) Loess
Q143) YTAYTE BT & & - kQ143) Thalghat is associated with-
1) TR XA 2) Uﬁﬁ‘é’ﬁ@f 1) Northern Railway 2) East Coast Raiiway
3) f@)ﬁH H 4) igH] g1 3) Metro Railway 4) Western Coast
Q144) SHU-UiyT garsfi & gas &- IQ144) South-West winds are associated with-
1) HHEYA 9 2) U AT ¥ s 1) Monsoon 2) Summer Monsoon
3) Yid A ¥ 4) G &1 Hadq 9 3) Winter Monsoon 4) Retreat of Monsoon
Q145)Siaq Aaig HIY BT TR 8- IQ145) Subsistence Farming is associated with-
1) RS BN F 2) B oy g 1) Commercial 2) Mixed Agriculture
. Y- N Agriculture
3) |1 cpiﬁﬂ 4) S4H { D5 -6l 3) Plantation Agriculture 4) None of the above
Q146) FHEfaRad & ¥ $19 91 95 79¢] BFa &1 UldHidd  [Q146) Which of the following groups represents cash
HAl 67 crops?
1 ﬁg G?L == 2) q}qiﬁ-: ULFIrﬁlq!qt? 1) Wheat, Barley, Gram 2) Cotton, Jute, Tobacco
3) YT+, AR, g1 4) S1H { PIg F6l 3) Paddy, Pea, Gram 4) None of the above
Q147) 7dd g &1 - IQ147) Choose the incorrect pair-
EIGIE R o Normads Country
A. §RHA 3THIH] A. Bushman  Africa
B GRT4T YRd & HUSHM U4 HHIER ¢1d B. Jarawa Andaman and Nicobar Island in India
& Qﬁv‘fﬁ Dls] C. Eskimos Canada
D. fUH 3EGH afgd D. Pygmies  Amazon basin
1) A 2) B 1) A 2) B
3)C 4) D 231 TE 4) D
Q14B)Q"&Eﬁﬁ gi_qﬁﬁﬁqu gIdT - IQ148) The crust of the Earth is formed-
1) 3% 2) AT 1) NIFE 2) SIMA
3) f¥yara 4) 395 § D3 qol 3) SIAL 4) None of the these
“NMMS 2023 18 Contd,
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e o w#m SAYURT T = T : -
uus}ﬁvﬁ ﬁ:r.;ﬂ %7 ]1 49)Which of the following is a cold ocean current?
2) DT DI
n-;ﬁ:cﬁ@uﬁﬁ U1 4: W%m 1) Current of Gulf stream 2) Current of Alaska
3)ﬂﬂ & YR 3) Current of Kanari 4) Current of Kuroshio
B 1w)aﬁqga‘mﬁﬁ5ﬁm%? IQ150) How many districts are there in Uttar Pradesh?
1) 72 i N 72 2) 73
3) 74 il 3) 74 4) 75
a151)‘$a"'aﬁ%ﬂ AP e ISTell U9Tad 9as el 81 Q151)A person below ______ year of age cannot be the
FHar member of District Panchayat.
1) 18 T8 2) 22 98 1) 18 years 2) 22 years
3) 21 G\l 4) 20 ¥ 3) 21 years 4) 20 years
Q152) T= HIXC ENEECEED W a1 ] K152) Which year was “Swachh Bharat Mission” launched?
1) 2014 2) 2015 1) 2014 2) 2015
3) 2016 4) 207 3) 2016 4) 2017
Q153}ﬁaf—‘q-1 AR ] RITTA F§ ! 75 U7 Q153) When was the Election Commission established?
1) 25 §Ha<l 1950 2) 25 4“*_3*% 195C 1) 25 January 1950 2) 25 February 1950
3) 10 §9a3 1949 4) 25 Hi™ 195( | 3) 10 January 1949 4) 25 March 1950
Q154) UIRaTg AU &1 Uy ST &1 398 19 U KQ154) Who was the chairman of the Drafting committee of
| the Constituent Assembly of India?
1) 81 o< TG 2) B HIH T8 | 1) Dr. Rajendra Prasad  2) Dr. Bheem Rao
! 2 | Ambedkar
3) B TSIAER] 4) B1. 9T 3) C. Rajgopalachari 4) Dr. Sachidanand Sinha
Q155) Ao SNPRI $T IooiE SauH & &3 18 KQ155)In which part of the Indian Constitution
Fundamental Rights” are mentioned?
1) 4771 2) HITT-5 | 1) Part-1 2) Part-V
3) HI7T-3 4) Y17 | 3) Part-lll 4) Part-VI
Q156) Hftie Sy Fi Tw=T B Q156) The Number of Fundamental Duties are-
112 2) 1 1) 12 2) 11
3)6 4) 3) 6 4) 10
Q157) 373252 &1 gE ™ B- Q157)Article- 52 is related with
1) PTG ¥ 9 2) IUTPUIT ¥ 1) President 2) Vice President
3) 00T g 4) GBI I 3) Governor 4) Chief Minister
Q'IEB}?{I%;”;%.-; $Y H9w3q § WM T UsR o1 g [$dl Q158) The constitution of India mentions Right to
41 5- rducation in which of the following article-
1) 22 2) 21(& 1) 22 2) 21(A)
3) 23 4) 20 3) 23 4) 20
1 o~ o = Ol Qe S : e =
Q 59}?&3 ”’im oS o § 1 ET & S gd ITPR Q159)What Is mclu@ed lﬂ-thE Directive Prm'c;ple of State
n:@% Policy which is not In Fundamental Right-
R mﬁm?ﬁ?aﬁm 2) 2 T B GaFAd] 1) Abolition of 2) Freedom of movement
untouchability _
3) ¥ & waaT 4) HER TN I U6 3) Freedom of religion  4) ?nrzif;nn of cottage
|

VO 33 B e givwe & wrd e TE A

kQ160) Which one of the following is not a Permanent

member of Security Council?
2) Britain (The United

Ki focH 1) China
i ) Kingdom)
3 | 4) Italy
da 4) SCal 3) Russia -
NMMs 2023 19
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Q161)E$Tﬁﬁaﬁm15m%ls‘aﬁ40%
AR UV T 8| g IR [ B 9

? 30%1%111

NO 2) 350
3) 450 4) 600

Q162) Tfc fH=gl S S S1aT 110 B J1 A1 & S8 &
D1 BT - Y HFT 33 W HEY: WATHS IR I 4
aquT s 81 398 S SuT B

1) 21 2) 98
3) 89 4) 79
Qi) ' [ :
\ - 1231 DI A I W x T TF 911
[1-x \ x 6
1) 4 2} 1
13 13
2 4) 3
13 13
Q164) el FHaTE e #1 v e 3 o 4 5 81 e
ST &THA & -
1) 2J/3 JHFk 2) 443 QK-
3) 30 §HE 4) 64 T
Q165) AT & a8 BT | B¢ I fu 8192 H Ui o3 I8
TS GOl U & S1d1 2|
1)2 2) 4
3) 16 4) 32
Q166) Tfe fFdt 9B & T AUE &1 U@ [Ge8s 158, 31 3
g &1 (°/10) ST U
1) 18 2) 36
3) 54 4) 90
Q167)gfg 2" - 2" = 4 FE " FT A &-
1)8 2) 27
3) 64 4) 125

Q168) Tfg sl Sirad @ TS YT EiSTS HH: 10% Y]
20% §¢T &l 9 a1 IT&] &3P [ha- Wid<d §¢

Maths

KQ161) The population of a village is 1500. There are 40%
men 30% women and rest are children. Difference
between the number of children and women is?

1) 0 2) 350
3) 450 4) 600

Q162)If sum of any two numbers is 110 such that the
guotient and remainders are 4 and 5 respectively.
When the greater of the two numbers is divided by
smaller one, the greatest number is-

1) 21 2) 98
3) 89 4) 79
Q163) o solving /— - 1\{--“ ¥ _». we get one value
Yl—2x X 0
5 of X IS
| N 2) 1
| 13 13
| 3) 4) 3
| 13
Q164)Each side of an equilateral triangle is 4cm. then its
= L~
1' 1) 2v3 cm’ 2) 443 cm?
3) 30cm? 4) 64 cm*
Q165)What is the smallest dividing number that makes

8192, a perfect cube?

2) 4
4) 32

of one fourth of a numberis 15. Then

(°/10)" part of that number is:
1) 18 2) 36
3) 54 4) 90
Q167)if 2" - 21 = 4 then the value of n" is:
1) 8 2) 27
3) 64 4) 125

Q168)If length and breadth of a rectangle is increased by
10% and 20% respectively, then the area will be

STT- increased by what percent-
1) 16% 2) 32% 1) 16% 2) 32%
3) 48% 4) 64% 3) 48% 4) 64%
T A In the given figure 'O’ is the centre _A
Q169)ﬁ'&1ﬁﬁﬁﬁ ® = Q169) given fig
g 3R P /-ﬁ\ of the circle and ZBOD=130°
% 5 ¥ £B0D=130" [ 0 Then value of ZBCD is | ’J
al ZBCD &1 HM &- .
¢ B\x>~ D B :
C C
1) 90° 2) 65° 1) 9Q¢ 2) 650
3) 115° 4) 120° 3) 115° 4) 120°
NMMS 2023 20 Contd.
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Q17°)aﬁx i l:ﬁ EfT(}: _ i) PR ¢ R170) Ifx" - 1 =63 then the value of (x - 1)is:-
X & X8
1)1 2 1 2)3
2 ; 2 2
3)5 L )5 4) 7
2 - 2 5
qi71) 3T fadil 3mad 7 SERTG Q171) If area of a rectangle is
5 +f"_._x +(x? -1)(1-x 2 +?—x'+(x*—1)(l x*)
mﬁﬁm'h __._1 g’*a‘(""g-‘“-"r and |ts|engthbe[q .2_}:_1) then its
\ breadth is:- = 2
gisrs gl
Nx-1 2) 1-x 1 e 1 2) 1 - x
2 2 2 >
3)x +1 4) 2x +1 3) x +1 4) 2x +1
2 2
Q172) f&sl 49 BT 10% qIN® &1 DI a3 “-:F 2 ay & tag:nqré KQ172) The difference between compound interest and
&S 3R IR 1S & Hd? 1038, dIdg Y9 & simple interest on a certain sum for two years at the
rate of 10% per annum is ¥10. The sum is;
1) 21010 2) 31095 1) %1010 2) 1095
3) %1000 4) 399( 3) %1000 4) 3990
Q173) UYH F U -1 BT JATed ‘%’ h‘ITS}The mean of first ten prime numbers is;
1) 109 2) 11 1) 109 2) 11
3) 119 4) 129 3} 119 4) 129
Q174) TG x = y BT Fe x5 & Q174)If x = y then x+5 is;
13 2) 5 1) 3 2) 5
: g 8 8
3)7 4) 8 3) 7 4) 8
: - g 5
Q75)FTHT T Ry & ﬁF'% Q175) Distance between point P and Q ir;l)y
ﬁﬁ QF TFg =N %__ ﬂ[t Q(0 4 the Cartesian Plane figure is- 4 Q(0,4)
» :‘: 2+
P(:30) 11 P(-30) 1+
X €—& 0 >x PR T e ey e e
=3 =2 G P -3 -2 -1 E2:53
v Y M y
;} K Smiﬁ 2) 3 m 1) -2 unit 2) 3 unit
) 43T 4)53HTE 3) 4 unit 4) 5 unit

QI?G)ET‘E‘ﬁm“aqT—T YR H5sard 3.5 F 341d & |Q176)The ratio of the base radii of two right circular

mn@ﬁqr23%tﬂﬁ$-ﬂmdmw$

cylinders is 3:5 along with ratios of their heights as

i &7 3UTd BT 2:3 Then the ratio of their slant area is;
1)2:5 22 - 3 e 25 2) 253
3)3:5 ' 3B A5 4)'5%3
4)5:3 R
“Nvm — con R
NMMS e 1 ontd.
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Q177)aﬁ@f'ﬁﬁmu€@d@ﬂﬁﬁ? 3l HTART 7 T
HF 3 B IiRiDdT &

lQﬂ'?)The probability that the sum of numbers on the two
dice would be 7 or more, when they are rolled at

random 1S;
15 2) 6 1) 5 2) 6
12 12 12 12
3)7 4) 8 3) 1 4) 8
12 12 12 12
Q178)fed T T # O gd &l $eg Bl kQ178) [nthe givenfigure O is the centre of a circle
¢ < YT and Tangents at point of
ORI T E BT Q aY ;_El:]'i contact P and Q are PT
PT gur QT & ; and QT If £POQ = 120°, |
a‘% ZPOQ=12GQ .r GC1ZD;| /{, ‘ thEI’"‘! *iPTQ 1S
ar £PTQ &7 A & \_ N2~
/)6
1) 40° 2) 50° 1) 40° 21008
3) 60° 4) 80° [T 8] 60r 4) 80°
Q179) T G&A1 &1 13 Y faHad &9 W 1 99 §9a1 & IR Ufe |Q179) The remainder when a number is divided by 13 is 1
5,{_['&3 UTHBA HT 5 T HIT S a1 3 I8 §947 ‘;-é: | 3§ gl | and if its guotient is divided by 5 gives remainder 3.
T 1 65 Y HIT © 8 JVFHd & | Then the remainder if the number is divided by 65 Is;
1) 20 2) 30 1) -20 2) 30
3) 40 4) 50 3) 40 4) 50
Q130}a1‘f¥TIﬁWUT -x4-2x+3=0 Erﬁ? IQ180) The roots of the quadrate equation -x*-2x+3=0 are-
1) 3, -1 2) -3, 1 1) 3, -1 2) -3, 1
3) -3, -1 4) 2, 1 3) -3, -1 4) 2, 1
NMMS 2023 2 Gontd. &
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